Project Agreement Cost Estimate Wyoming Department of Transportation

February 22, 2023

Project Number: AERO-AGMP35B

Name of Project: Statewide Airport Crack Sealing Contractor: National Sealant & Concrete LLC

Prepared by: C & E

Work Type: Crack Sealing

Description: Surfacing(concrete), surfacing (bituminous) and miscellaneous work at various airports statewide.

Version #: 1 Designed By: Chica Thomas

Contract ID: AGMP35B Checked By: Troy Grandpre

Unit of Measure: ENGLISH (21) Road Length:

District: STATE WIDE Route:

County: Big Horn, Fremont, Hot Springs, Park, RM Begin:

Sheridan, Washakie

Bid Open Date: 09-Feb-2023 RM End:

Resident Engineer: Melissa Palka, P.E.

Project Agreement Cost Estimate Wyoming Department of Transportation Project Number: AERO-AGMP35B Version #: 1

Catego	ory					
	ENERAL CONTR					
Fede Numbe	ral Work Type: 4 er - Item Number		Quantity	Unit	Unit Price	Amoun
1	109.04000	FORCE ACCOUNT WORK	500.000		\$1.00	\$500.00
2	109.08000	MOBILIZATION	1.000	LS	\$55,000.00	\$55,000.00
					Subtotal:	\$55,500.00
	IRPORTS	AC Ctata	Description Cody Airport			
reae Numbe	ral Work Type: 4 er - Item Number		Quantity	Unit	Unit Price	Amoun
3	417.05000	SEALING CRACKS (CONC PVMT)	50.000		\$10.00	\$500.00
4	417.05010	SEALING JOINTS (CONC PVMT)	6,540.000	FT	\$2.55	\$16,677.00
5	417.06015	CRACK SEAL (PLANT MIX)	67,700.000	FT	\$1.02	\$69,054.00
					Subtotal:	\$86,231.00
	IRPORTS		Description Cowley Airport			
Fede Numbe	ral Work Type: 4 er - Item Number		Quantity	Unit	Unit Price	Amoun
6	417.05010	SEALING JOINTS (CONC PVMT)	300.000		\$3.00	\$900.00
7	417.06015	CRACK SEAL (PLANT MIX)	15,100.000	FT	\$1.02	\$15,402.00
					Subtotal:	\$16,302.00
	ory AIRPORTS eral Work Type: 4	46 - State	Description Greybull Airport			
	r Item Number		Quantity	Unit	Unit Price	Amoun
8	417.06015	CRACK SEAL (PLANT MIX)	24,600.000	FT	\$1.02	\$25,092.00
					Subtotal:	\$25,092.00
	IRPORTS	AG Chata	Description Lander Airport			
rede Numbe	ral Work Type: 4 r Item Number		Quantity	Unit	Unit Price	Amoun
9	403.05060	CRACK SURFACING (PLANT MIX)	5.000	CF	\$255.00	\$1,275.00
10	417.05000	SEALING CRACKS (CONC PVMT)	450.000	FT	\$3.00	\$1,350.00
11	417.05010	SEALING JOINTS (CONC PVMT)	350.000	FT	\$3.00	\$1,050.00
12	417.06015	CRACK SEAL (PLANT MIX)	43,200.000	FT	\$1.02	\$44,064.00
					Subtotal:	\$47,739.00
Catego 107 - A	ory AIRPORTS		Description Powell Airport			

Federal Work Type: 46 - State

Project Agreement Cost Estimate Wyoming Department of Transportation Project Number: AERO-AGMP35B Version #: 1

Number	Item Number	Description	Quantity	Unit	Unit Price	Amount
13	403.05060	CRACK SURFACING (PLANT MIX)	70.000	CF	\$255.00	\$17,850.00
14	417.06015	CRACK SEAL (PLANT MIX)	46,100.000	FT	\$1.02	\$47,022.00
					Subtotal:	\$64,872.00
Category 107 - AIF			Description Riverton Airport			
	l Work Type: 4 Item Number		Quantity	Unit	Unit Price	Amount
15	417.05010	SEALING JOINTS (CONC PVMT)	7,100.000		\$2.55	\$18,105.00
16	417.06015	CRACK SEAL (PLANT MIX)	95,000.000		\$1.02	\$96,900.00
10	417.00013	CHACK SEAL (FLANT WILK)	95,000.000	Г	φ1.02	φ90,900.00
					Subtotal:	\$115,005.00
Category	RPORTS	46. 01.4.	Description Sheridan Airport			
	l Work Type: 4 Item Number	Description	Quantity	Unit	Unit Price	Amount
17	403.05060	CRACK SURFACING (PLANT MIX)	10.000		\$255.00	\$2,550.00
18	415.02015	CONC PVMT SPALL REPAIR	20.000	SF	\$130.00	\$2,600.00
19	417.05000	SEALING CRACKS (CONC PVMT)	15.000	FT	\$35.00	\$525.00
20	417.05010	SEALING JOINTS (CONC PVMT)	405.000		\$3.00	\$1,215.00
21	417.06015	CRACK SEAL (PLANT MIX)	66,300.000		\$1.02	\$67,626.00
22						
22	512.01050	ELASTOMERIC COMP JOINT SEAL	8,790.000	ГІ	\$7.75	\$68,122.50
					Subtotal:	\$142,638.50
Category	RPORTS	40.004	Description Thermopolis Airport			
	l Work Type: 4 Item Number	Description	Quantity	Unit	Unit Price	Amount
23	417.06015	CRACK SEAL (PLANT MIX)	35,700.000		\$1.02	\$36,414.00
					Subtotal:	\$36,414.00
Category	RPORTS		Description Worland Airport			
	I Work Type: 4 Item Number	16 - State Description	Quantity	Unit	Unit Price	Amount
24	417.05000	SEALING CRACKS (CONC PVMT)	1,000.000		\$3.00	\$3,000.00
25	417.05000	SEALING CIVACKS (CONC PVMT)	7,800.000		\$2.55	\$19,890.00
	417.06015		47,300.000		\$2.55 \$1.02	
26	417.00010	CRACK SEAL (PLANT MIX)	47,300.000	1-1	⊅1.U ∠	\$48,246.00
					Subtotal:	\$71,136.00

Project Agreement Cost Estimate Wyoming Department of Transportation Project Number: AERO-AGMP35B Version #: 1

Contract Amount:	\$660,929.50
Subtotal (Contract Amount):	\$660,929.50
Total Contractor Bid	\$660,929.50

	Il Work Type: 46	ENGINEERING (WYDOT) 6 - State			
Number	Item Number	Description	Quantity Unit	Unit Price	Amoun
	10.90	CONSTRUCTION ENGINEERING (WYDOT)	1.000 LS	\$150,541.00	\$150,541.00
				Subtotal:	\$150,541.00

Non-Bid Items

\$150,541.00	Construction Engineering:	\$0.00	Miscellaneous Non-Bid:
\$0.00	Right-of-Way Acquisition:	\$0.00	State Maintenance Forces Work:
\$0.00	ICAP:	\$0.00	State Paid Royalty:
\$0.00	Engineering Overhead:	\$0.00	Work Done By Others:
\$0.00	Utility Adjustments:	\$0.00	State Furnished Items:
\$0.00	State Farm Loan Board Grant:	\$0.00	Preliminary Engineering:
\$150.541.00	Non-Bid Items Total:		

d Items (excluding Innovative Contracting) \$660,929.50	
Total Non-Bid Items \$150,541.00	
Grand Total Contractor Bid: \$811,470.50	
d Items (excluding Innovative Contracting) \$660,929.50	
Innovative Contracting: \$0.00	
Total Amount for Awarded Contractor \$660,929.50	